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LA = 27171 22 A4 2712 o] ol 3R F
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S =2x(xxy)+2x(yxz)+2x(zxx) °|ch

wetA] § = 56 + 40 + 70 = 166( cm?) ©] T}




of A Aulo] £22 7]2o] roC ¥ wf, wfz oF (3314-0.6t) m
tot, 7]120] 8°C & o, AZf7F 2|22 4 %
HAN7F 2 27RR] 0] AR E Fsheiet. (
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3314 0.6 x 8 = 331 + 4.8 = 335.8(m/s)
whakA 78] & 335.8 x 4 = 1343.2(m) ©]ot.
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@ $¢a9}b9]%&_>“;b
@ 8kg ©] a% — 0.08a (kg)

® 500 LA ofo]Aa™ y Al - 500y ()

O

@)a 7Mell 3000 €1 &2 1 A9 7F4 — 3000a

LI

® A% 3km & x AZFESHZF AT - 3x (m)

@ a Aol 3000 91 B 1 A9 747 - 0




